
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Mit Zehnerpotenzen multiplizieren (fehlende Zahl)

6, 303 × ________ = 630.3 5, 147 × ________ = 5147

4, 643 × ________ = 464.3 5, 847 × ________ = 58.47

6, 189 × ________ = 61.89 7, 115 × ________ = 7115

7, 39 × ________ = 7390 5, 18 × ________ = 51.8

10, 796 × ________ = 107.96 6, 241 × ________ = 624.1

6, 304 × ________ = 63.04 1, 395 × ________ = 1395

3, 453 × ________ = 3453 5, 375 × ________ = 5375

6, 472 × ________ = 647.2 2, 115 × ________ = 211.5

7, 361 × ________ = 73.61 4, 13 × ________ = 4130

8, 78 × ________ = 87.8 9, 559 × ________ = 95.59
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Mit Zehnerpotenzen multiplizieren (fehlende Zahl)

6, 303 × 100 = 630.3 5, 147 × 1000 = 5147

4, 643 × 100 = 464.3 5, 847 × 10 = 58.47

6, 189 × 10 = 61.89 7, 115 × 1000 = 7115

7, 39 × 1000 = 7390 5, 18 × 10 = 51.8

10, 796 × 10 = 107.96 6, 241 × 100 = 624.1

6, 304 × 10 = 63.04 1, 395 × 1000 = 1395

3, 453 × 1000 = 3453 5, 375 × 1000 = 5375

6, 472 × 100 = 647.2 2, 115 × 100 = 211.5

7, 361 × 10 = 73.61 4, 13 × 1000 = 4130

8, 78 × 10 = 87.8 9, 559 × 10 = 95.59

www.snowmath.com

https://www.snowmath.com

